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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
December, 2011 

ELECTIVE COURSE : COMMERCE 

ECO-11 : ELEMENTS OF INCOME TAX 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question No. 1 is Compulsory. Attempt any three 
questions from remaining questions. 

1. 	Dr.Vinod Prakash is a lecturer in Delhi University, 14 
Delhi. Following are the details of his income for 
the previous year 2009 - 10. 

Rs. 

Basic Salary-per month 	 16,800 

Dearness Allowance @ 45% of 

salary (basic) 

City compensatory Allowance 

per annum 	 9,600 

House Rent Allowance per annum 	36,000 

Remuneration as an examiner 	1,000 
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Dr. Vinod Prakash is a member of statutory prov. 
fund to which he contributes 8% of his basic salary 
and the University is contributing an equal 
amount. During the previous year he spent 
Rs. 2,000 on books purchased for teaching 
purposes. He lives in a rented house, the rent 
payable being Rs. 3,500 per month. 
Compute Dr. Vinod Prakash's total income for 
the assessment year 2010-11. 

2. (a) When is a person treated as a deemed 6, 6 
owner of house property ? 

(b) Explain the scope of total income for a not 
ordinarily resident in India. 

3. (a) Explain the short term capital gain and also 6, 6 
the rules regarding its taxation. 

(b) A sold a long-term capital asset (listed 
securities) for Rs. 10,60,000 in August, 2009. 
It was purchased in August, 1981 for 
Rs. 1,20,000. In October, 2009, he 
purchased bonds redeemable after three 
years issued by NHAI for Rs. 1,50,000, 
equity shares for Rs. 1,00,000 and a 
residential house in Mumbai for 
Rs. 2,50,000. In August, 2009 he did not 
own any other residential house, though he 
owned a big house property in Delhi. 
Compute his taxable capital gain. 
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4. 	(a) Mr. Virani owned a house property at 7, 5 
Chennai which was occupied by him for the 
purpose of his residence. He was 
transferred to Mumbai in June, 2009 and 
therefore he let out the property vv.e.f. 
1st July, 2009 on a monthly rent of Rs. 3,000. 
The municipal tax payable in respect of the 
property @ 20% of the expected rent of Rs. 
30,000 was Rs. 6,000 of which he paid 50% 
before 31-3-2010. Interest on money 
borrowed for the construction of the 
property amounted to Rs. 20,000. It was 
duly paid, and he spent Rs. 7,000 on repairs. 
Compute his taxable income from house 
property for the assessment year 201041. 

(b) Identify the securities that are fully exempt 
from tax under section 10 (15) of Income 
Tax Act, 1961 for all assessees. 

	

5. 	State the rules regarding taxation of : 	6, 6 
(a) pensions, and 
(b) death - cum - retirement gratuity. 

	

6. 	Write short notes on any two of the following : 	6, 6 
(a) Agricultural Income. 
(b) Taxation of Dividends. 
(c) Obligatory Filing of Return on the basis of 

certain economic indicators. 
(d) Deduction in respect of payment of House 

Rent as allowed under section 80 GG. 
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7. 	Explain the provisions of Income Tax Act, 1961 
for an individual if he is a : 	 4, 4, 4 

(a) resident, 

(b) not ordinarily resident and 

(c) non-resident 
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7. 	3117 W{ 3ifqfizfq, 1961 t atall ogre TI-1 7-tT 
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(c) 31frd-Rt 
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